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BRONE - FA @ ERERIBHEICLTHORATS.

Bl 5 A=3:"—7x+6, B=4x*—8x—50t %, ROXRZFEL X,
(1) A+B (2) 3A—B

®E (1) A+B=0Bx*—7x+6)+(4x2—8x—5)=3x2—Tx+6+4x2—8x—5
=(3x2+4x2)+(—T7x—8x)+(6—5)=Tx*—15x+1
(2) 3A—B=3(3x*—7x+6)—(4x*—8x—5)=9x2—21x+18—4x2+8x+5 «AHFS(TET 2.
=(9x2—4x?)+(—21x+8x)+(18+5)=5x—13x+23

Ba KOERX A, BIzowT, A+B Bb KOEEKA, BIzowT, A+B
L A—B%ilER X, L A—B%EIEE X,
(1) A=4x?4+9x+4, B=2x2+5x+1 (1) A=2x24+5x—1, B=4x>—Tx—38

(2) A=3x*—x+9, B=—x%+3x—2 (2) A=3x?+12, B=—6x2+2x—5

6b =3 wok A, BizowT, 24438
k BA_ZB %%Tﬁ‘t’:lo
(1) A=3x2—x+2, B=—x?—2x—4

6a WOt A, BizowT, A+3B
2: ZA_B %%Tﬁ:*@.‘lo
(1) A=x2+3x+6, B=2x>+x—1

(2) A=3x2—2xy—y? B=x*—xy+2y* (2) A=x*+2xy+2y% B=-—2x*—xy+3y*

6 A=4x>—3x+5, B=2x>—8x+6Dt %, 3A—B—(A+2B) Zitfit L,

z 3A—B—(A+2B)=3A—B—A—2B=2A—-3B AEHEICLTHSRAT D,
=2(4x2—3x+5)—3(2xz—8x+6)
=8x2—6x+10—6x2+24x—18=2x>*+18x—8

7b A=2x*+55—1, B=x—6x+4
DEx, AA+B+AB—A) FiHIE L,

7a A=x%+x—3, B=2x*+3x—4 D
L%, 3(A—2B)+4B ®itEE X,

(—fE3%) B3 l fit—




